Graph this Absolute Value Function WITHOUT using slope!

A Transformed Quadratic Function: y= ax?
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. —_ - 2 Graph the given function using at least five points.
Transformed Quadratic Function: y = ax Ry
: y = 2x
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Since there is no horiz or vert translation 14
the vertex remains (0,0) \ I /
2 is the Vertical Stretch Factor \ . : I
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Graph the given function using at least five points.

—_ 1
Y= ik
Since there is no horiz or vert translation
the vertex remains (0,0)

Graphs of Quadratic Equations:

N

Vertex Form: y = a(x - h)? + k

The graph of this equation is:
— 1 is the vertical shrink factor and

i iy ) ® a Parabola
x-axis reflection. This means that
this graph is half as tall and opens down. : e ertex at (h,k)
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